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SOCIAL WORK 

FSOW3E01 - HEALTH CARE SOCIAL WORK 

Time: 3 Hours                                                                Maximum Weightage: 30 

Part A: Answer any four questions. Each carries two weightage. 

1. How ‘Almoners’ are connected with health care settings? 

2. What is the importance of relationship with a patient in care planning? 

3. Elaborate on patient advocacy. 

4. What is meant by hospice? 

5. Write a short note on compulsive beahviours related with addiction. 

6. Explain referral services with an example. 

7. Give a short note on discharge care plan. 

(4 × 2 = 8 weightage) 

Part B: Answer any four questions. Each carries three weightage. 

8. What are the four ‘R’s related with patients’ psycho-social assessment? Explain. 

9. Examine the limitations of medical model in health care. 

10. Give an account on palliative medicine and its importance. 

11. What do you mean by reproductive health? How family planning is related with it? 

12. Explain the importance of crisis counseling in health settings. 

13. Elaborate on family education in health contexts and the role of a M.S.W. in it. 

14. What is cyber-addiction? Explain the various heath challenges related with it. 

(4 × 3 = 12 weightage) 

Part C: Answer any two questions. Each carries five weightage. 

15. Examine the historical milestones of medical social work in Indian contexts. 

16. Who is a Medical Social Worker? Examine their roles and functions in organizing 

HIV/AIDS care centres? How various skills and qualities can help an M.S.W. in discharging 

his functions here effectively? Discuss. 

17. Explain the various Sexually Transmitted Diseases? Discuss the role of social work in STD 

clinics. 

18. “Medical Social Work in essence fills the gaps of health care inequalities due to various 

social deprivations”. Comment. 

(2 × 5 = 10 weightage) 


